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NOTE : 1)All questions are compulsory.
2) Draw neat diagrams wherever necessary.
3) Figures to the right indicate full marks.
~Q.1) Attempt any two. 15

A) Explain the concept of consumer's surplus with the help of a diagram.

B) Describe the survey method of demand forecasting.

C) Ifafirm's advertising expenditure increase from Rs. 50,000/- to Rs. 70,000/- then the
demand for its product rises from 150 units to 300 units. Calculate the promotional
elasticity of demand.

Q.2) Attempt any two. 15
A) Describe the laws of returns to scale.
B) State the features of isoquant.
C) Discuss the internal economies of scale.

Q.3) Attempt any two. 15
A) Explain the behaviour of total cost curves in the short run with the diagram.
B) Discuss the concept of producer's surplus.

C) Iftotal fixed cost is Rs. 400, then calculate average fixed cost & marginal cost from
the following table.

Output 1 2 3 4 5 6
Total Cost 550 | 554 |594 |614 | 674 |700
Q.4) Attempt any two. 15

A) Explain the relationship between Total Revenue, Average Revenue and Marginal
Revenue under perfect competition with the help of diagram. ‘

B) Discuss the growth maximisation objective of a firm.

C) Iftotal fixed cost is Rs. 5000/-, variable cost is Rs. 55, and price is Rs. 60, then
calculate the break even output and amount.

Q. 5) A) State whether the following statements are true or false with reasons. (Any four) 08
1) Social customs and festivals are a determinant of demand.
2) The concept of elasticity of demand is useful to a producer.
3) Iso-cost line is the budget line of the consumer.
4) Changes in the price of factors of production causes changes in iso-cost line.
9) Long run average cost curve is.also known as envelope curve.
6) In short run, total fixed cost increases atdiminishing rate.
7) Profit maximisation is the only objective of a firm.
8) In monopoly there are many sellers.
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B) Choose the correct answer and rewrite the statement. (any seven) 07
1) Cross elasticity of demand for complementary goods is
a) negative b) positive C) zero

2) is a satistical method of demand forecasting.

a) Controlled market experiments b) Complete enumeration ¢) Trend projection
3) Law of demand shows inter-relation between
a) Price - demand b) price - supply c¢) demand supply
4) Forming a table out of wood is an example of ____ utility.
- a) place b) form c) time
5) An increase in additional output due to increase in additonal variable
factor is known as
a) marginal product b) average product c) total product
6) Afirmattains ___ on ra.ising its scale of production.
a) external economies b) internal economies c) total revenue
7) Interest on own capital is DA
a) explicit  b) opportunity c) implicit
8) Total cost - total fixed cost = —-----
a) total variable cost b) marginal cost c) average cost
9) ___cost means opportunity {ost
a) opportunity b) fixed c) variable
10) When total revenue is greater than total cost, a firm attains . .profit.
a) normal b) supernormal C) negative
11) Total revenue + output =
a) average revenue b) marginal revenue c¢) normal profit
12) In , there is a single seller.
a) Monopoly b) Rerfect competition c) Oligopoly
0-0-0
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